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Section : Section A

Q.1 Fa aeie 2022 - 23 F eusEds AT & WA bl 35,020 &Rig @ 31fdeh ol Ioie amafed
forar a1 g srree R=faf@a 7 @ fora atsrm & o 9 fovar mar ar?

Ans X A URe &t sEgR
X B. Ieret faahrr g Siretiforent gteimd
o C. uTfifer wife gisrme
X D. ir-afges srf

Question ID : 630680170393
Status : Not Answered
Chosen Option : =

Q.2 The voltage induced per turn of the secondary winding in a transformer is the same as the

self-induced voltage per turn in the primary winding. The coefficient of mutual coupling
between primary and secondary winding is:

Ans X A0
X B.>1
X C.<1
& D.1

Question ID : 630680774859
Status : Answered
Chosen Option : D

Q.3 af g=aéz eSeye Sifdeh & | sHRT Hae HHTAd FRUT T g Hehell 87
Ans X A PWM IC & a1y 9=

25 B. fafd fearsg # @t
o C. IS 9o U & @erelt
< D. 9iga 31feres s1Ye aleear

Question ID : 630680774925
Status : Answered
Chosen Option: C




Q.4 Select the most appropriate preposition to fill in the blank.

It is washed
Ans X A above

< B.by
/5 C.through
" D. with

boric acid before being sent to the laboratory.

Question ID : 630680310192
Status : Answered
Chosen Option: B

Q.5 ug uy RA=fafad el o= smenfRa @:
PUPIL LARGE TRAIN ORDER

T IuRI<h Ueh 25 o Uge 31eR ol geren ‘G’ forar st g, af f=faf@a J | frast sreigpf
St ereg FAT?

Ans X A PUPIL
7 B.ORDER
% C.LARGE
«” D. TRAIN

Question ID : 630680187835
Status : Answered
Chosen Option: D

Q.6 fAfeeria Ae CMOS =it aRarR & g sifderaw ot smgf _____ g1
Ans X A 50kHz

7 B. 50 MHz
7 C.40kHz
o D. 40 MHz

Question ID : 630680774908
Status : Answered
Chosen Option: A




oo |-

5

The given symbol represents:
Ans X A.P-channel depletion type MOSFET
< B. N-channel enhancement type MOSFET
&# C. N-channel depletion type MOSFET
/X D. P-channel enhancement type MOSFET

Question ID : 630680774893
Status: Answered
Chosen Option: C

Q.8 RS NOR @9 # fF=ifaf@a # @ snla-3t foafa d= =l d¥e & o1 ror af)?
Ans # A R=1,S=0
< B.R=0,S=0
X C.R=1,S=1
X D.R=0,S=1

Question ID : 630680774913
Status : Answered
Chosen Option : A

Q.9 Identify whether the following statements are true or false.

Statement 1:
Rectifier efficiency is defined as the ratio of output DC power to the applied input AC power.

Statement 2:
The maximum efficiency of a half wave rectifier is 46%.

Ans X A. Both the statements are true
«” B. Only statement 1 is true
/< C. Both the statements are false

Z5 D. Only statement 2is true

Question ID : 630680774877
Status : Answered
Chosen Option: A

Q.10 Which of the following statements is NOT true for the B of a common emitter BJT?
Ans X A.ltis also referred to as Hgg.
/5 B. Its value is high (about 100).

/X C.ltis the current gain in CE transistor, calculated as a ratio of DC collector current to
DC base current.
& D. It does not vary due to variations in the level of the base current.

Question ID : 630680774882
Status : Answered
Chosen Option: D




Q.11 R O-

Q

50

The circuit shown in the given figure is a:
Ans  «# A. NAND latch

/5 B. clocked NAND latch

/X C.clocked NOR latch

X D. NOR latch

Question ID.: 630680774914
Status.: Answered
Chosen Option : D

Q.12 Qe ulRay & SaMiaR s A F3 gQ &t ufadie 6 Q 3k 3 O § 3k ag smyfef & et 12 A iy umr
a1 1 3 Q ufaRty @ glaw varfd arr Y moEr fifSgl

Ans X A2A
X B.1A
X C.4A
& D.8A

Question ID : 630680774858
Status : Answered
Chosen Option: D

Q.13 afy 31,100 =t A B 3R C & dftwr 59 wehR arier Siv @ o A 3R B & fowdi @1 argura 1:32
a1 B iR C & fawl ot erqura 5: 8 81 C ot fgwam e i)

Ans X A T700
« B.%600
< C.3400
A D.-X500

Question ID : 630680531143
Status : Answered
Chosen Option: B

Q.14 3mgf fvreH & A fRTg-u=Tg &Y efer =t & AT Qe uew a4 a1 Iugin faran siman &1 af
gqe T 160 kHz &, @t Shier fRTg-uity & a1 sigfv e gift?

Ans X A 160 kHz
7 B. 40 kHz
7 C.80kHz
o D. 20 kHz

Question ID : 630680774922
Status : Answered
Chosen Option: C




Q.15

Ans

*

Qutput = HT3Z9C

]

T v 99y & i B w9 & o=l aar 22
X A ORie
o B.NOT e
< C.NORTe
X D. AND e

Question ID : 630680774902
Status : Not Answered
Chosen Option : =

Q.16

Ans

“—

Identify whether the following statements are true or false.
Statement 1:

The varactor diodes can be used in the RF filters to tune.
Statement 2:

The varactor diodes are used to change the capacitance in tank LC circuits.
X A.Both the statements are false

/X B. Only statement 1 is true
/X C. Only statement 2 is true

«” D. Both the statements are true

Question ID : 630680774876
Status : Answered
Chosen Option: D

Q.17

Ans

f=afaf@a su=l fr g a1 A & wu # ugar il

hYq 1:

UPS # fREehrRt o1 Iuaiit uemad! &1 (AC) 3979¢e okl f o=t (DC) & uRae=1 & farg favam siran
gl

hYF 2:

UPS # de& ar1 SUaiT AT aleedar DC &l 3= aleedr AC 21wk & uRafda oA & forg faman siran
gl

o A FIARUT 1 TT
X B.aFiwuTaas

X C.af wyA s 8
X D.HaARYT29a 8

Question ID : 630680774926
Status : Answered
Chosen Option : A




Q.18 BJT & farg uRene foig ot fRAR a-1g 3@ 2 sifalRe Ut uer ea & Ay srts, ciftiwey,
UfifteR S araa G3E IueRRull & IUTNT i RIT hgT ST 22

Ans X A. fam=or geiies (diffusion technique)
X B. GehHUT deh-teh (transition technique)
" C. ufdqzur ae-iieh (compensation technique)
#< D. ISt depeiiek (addition technique)

Question ID : 630680774891
Status : Not Answered
Chosen Option : —

Q.19 ufer MOSFET iR BJT & |1Y g1 et WR IGBT Y f@afdin wfts & fog Amafaf@a d | oq-ar
FUT T 8?7

Ans X A.GfaR MOSFET 3R BJT & iR
7 B. dfak MOSFET &R BJT & agaR
& C.TfeR MOSFET & FreieR ok BJT @ dgaR
2 D. dfak MOSFET & S8R 3R BJT & Fraer

Question ID : 630680774897
Status : Answered
Chosen Option: C

Q.20 W19 ITeR 3 WY fhet R ot v a1 a« FRafaf@a & @ yoia & ueh 92 9P &1 9+ i a1?
Ans X A ssifeH @

X B. Rehex &fidt

X C. e &t adr

o D. 3l @M At

Question ID : 630680333531
Status : Not Answered
Chosen Option : =

Section : Section B

Q.1 JK foRmg-u=ita & a8« &, st = 1 3R K = 0 g, at srren uifsifea a=iter w1 (clock edge) &
ghm?
Ans X A gg fORT0-URiATd R} 3 o 3T
«” B. 78 R1U-7=iTT D¢ o 3|
X C. 78 fR1Y-wiTy oY A8 e 3|
< D. g8 ferg-uita ant fAfshar ae

Question ID : 630680774918
Status : Answered
Chosen Option: B




Q.2 srefad et # giawrR fi et fefiae ateear 100 Vg 81 3TSeqe Vy, i morn fifsgi
Ans X A.8545V

X B.111V

o C.44.83V

5 D.60.6V

Question ID : 630680774875
Status : Answered
Chosen Option : D

Q.3 The standard TTL chip has a power dissipation of about:
Ans X A. 40 mW/gate

" B. 10 mW/gate
/< C.20 mW/gate
/< D. 50 mW/gate

Question ID: 630680774904
Status : Answered
Chosen Option : B

Q.4 Y@ uifles R W= 3ra+ft 31T a1 55% ST U= 311R 2 a1 36% TiITes U= @ el 21 af ag v
A ¥5,760 g2 "G 3rq= ATdAT-far & &t &, at ag I fohasit ars o 3@ ghft?

Ans o A 32,40,000
< B.%2,20,000
2 C.2,10,000
2 D.%2,30,000

Question ID : 630680481176

Not Attempted and
Marked For Review

Chosen Option : —

Status:

Q.5 & s e & un-Rg (?) & W= W a1 ST A1Re?
15243548637
Ans X A.76
< B.83
«” C. 80
X D.87

Question ID : 630680523604
Status : Answered
Chosen Option: C




Q.6 f=fafaa d & wi=-ar ark p-a9a |@gfg WehR MOSFET & forg Vg VS Ip &1 fAsuor azan &2

Ans L
XA
W

s
L
& C. ‘E
Vas
[ Iy T
< D.

Question ID : 630680774894
Status : Answered
Chosen Option: A

Q.7 [3B02];¢ ot &zrAera & uRafda fifsgl
Ans X A.[14186]1o

X B.[16116];g

X C.[16926],

& D.[15106];

Question ID : 630680774901
Status : Answered
Chosen Option: D

=

Q.8 The phase difference between the output and the input voltage in a CE amplifier is:
Ans X A 45°

o B.180°
xXco
< D.90°

Question ID : 630680774889
Status : Answered
Chosen Option : B




- . -]
0V g 2 Ohm

REGISTOR = 9faire=s
IH F FTOH #7399 Fa iaius #§ 9anT AT Hiew)

Ans X A 4amps

< B.20 amps
25 C.5amps
o D. 10 amps

Question ID: 630680774853
Status: Answered
Chosen Option : D

Q.10 What is the state of the latch when the clock is low for the D-latch?
Ans X A. Reset condition

< B. Racing condition
" C. Inactive state
#5 D. Set condition

Question ID : 630680774916
Status : Answered
Chosen Option: C

Q.11 Tk SEHRR T S8y, RI-AIS g1 WR 250 V g ik Rz ufaRius «is gF uR 39 3seye
200 V g1 giewTR & e & o fifSig)

Ans X A 18%
X B.15%
X C.10%
o D. 25%

Question ID : 630680774864

Not Attempted and
Marked For Review

Chosen Option : —

Status:




Q.12 Identify whether the following statements are true or false.

Statement 1:
An online UPS offers the best power protection against all types of disturbances.

Statement 2:
The tolerance of output voltage of an online UPS is 5%.

Ans X A. Both the statements are false
Z< B. Both the statements are true
Z5 C. Only statement 2 is true

«” D. Only statement 1 is true

Question ID : 630680774931
Status : Answered
Chosen Option : B

Q.13 Identify whether the following statements are true or false.
Statement 1:
Low power transistors are generally used at the last stage of amplification.
Statement 2:
High power transistors are used to amplify signals from a microphone, tape head,

transducers, etc.
Ans X A. Only statement 1 is true

/X B. Only statement 2 is true
/X C. Both the statements are true

«” D. Both the statements are false

Question ID : 630680774898

Not Attempted and
Marked For Review

Chosen Option : =

Status :

Q.14 =
1r‘;mﬂ
+
—_
4o0v |
-

v 1o oftwy garr <ow T Fo afeT frae @2

Ans  # A 8004drC
7 B.400are
2 C.200am
/< D.100dre

Question ID : 630680774857
Status : Answered
Chosen Option: A




Q.15 UTehet LED aret UPS & fag, afe; uerter smaR feeier & 919 THeheR &1t gt Siran &, Y ag e
deargfr I

Ans o A T I UTeR W g SR SraTeh $het g § HEayut &f e e &
X B. UPS &eh-370 UfaR UR 1 e 8T &
< C. e e fggd g R R @1 8
7 D. SFIReR 1], hh faregd SigTed Y Tt &

Question ID : 630680774934
Status : Answered
Chosen Option: B

Q.16 The ideal quiescent point on the load line of the BJT should be:
Ans  # A. the middle point between the cut-off point and the saturation point

Z< B. near the cut-off point
25 C. beyond the saturation point

/5 D. near the saturation point

Question ID : 630680774883
Status : Answered
Chosen Option : A

Q.17 Select the option that can be used as a one-word substitute for the given group of words.
The study of dreams based on science
Ans X A.lllusion
/% B. Hallucination
/X C. Perception
& D. Oneirology

Question ID : 630680467179
Status : Not Answered
Chosen Option : —

Q.18 fA=faf@d wy=l i 9 a1 3w & w0 # ugaH HifSg|
kYA 1:
SIg TR she-3iTh & | gian g dt gifoieR [ sifq-eraeun d ufenfera giar g1
hYA 2:
gifSreeR faa &1 IUah ShEeR SR ued S Rex uRuy & farar Sirar g1

Ans X A i muH G g
X B. a1 Ta 8
o C.HIA R 2T 8
< D. 31 e s

Question ID : 630680774886
Status : Answered
Chosen Option: C




Q.19 et & ug) RAfthewes S semea & 2021 F & aritierer a1 ude faem
Ans o A I T KR & SufrE

75 B. T & MR
X C.opur
< D.figa™

Question ID : 630680112007
Status : Not Answered
Chosen Option : —

Q20 FlcF F g RERF A Ee R vATI A KOG _____ s mar éi
Ans X A et

o B. IR

X C. o

< D. 913

Question ID: 630680227895
Status : Not Answered
Chosen Option : =

Section : Section C

Q.1 Which of the following materials is introduced between the transistor body and the
aluminium heatsink surface?

Ans X A. Anplastic coat
& B. Amica film
/< C. A Bakelite strip
25 D. A silicon wafer

Question ID : 630680774899
Status : Answered
Chosen Option : B

Q.2 aref ot & forg &4 (carry) 7 w7 & forg I forar s arer g e wa-a1 8?
Ans X A OR7E

X B.NORTe

25 C.NAND 7€

«" D. AND 7T

Question ID : 630680774910
Status : Answered
Chosen Option: D




Q.3 fA=fafEda syl H 9 a1 3/ & wu & ugaH fifsigl
kYA 1:
R UhR & AHTR ST U T gleest 3R UlaR SiHhRR & &9 J Iugi fhg s &1
hYA 2:
TR YR & SHHER H g1 7 At UhR & SrahrR i gerar sifdes gidh &1

Ans X A S B T E
o BRI RUT 29T ¢
X C.ai O g
X D.dhad YT 1 a8

Question ID : 630680774863
Status : Not Answered
Chosen Option : —

Q.4 Inthe pro-electron type code BY127, the second letter Y indicates that it is a:
Ans o A rectifier diode

75 B. varactor diode
/5 C.tunnel diode
#5 D. Zener diode

Question ID : 630680774873
Status : Not Answered
Chosen Option : =

Q.5 The maximum reverse voltage that a diode can withstand is known as:
Ans X A avalanche voltage

X B. break down voltage
o” C. peak inverse voltage

Z< D. barrier voltage

Question ID : 630680774871
Status : Answered
Chosen Option: C

==
Q.6 Which of the following logic gates has the maximum propagation delay time?
Ans  # A. CMOS metal gate

#< B. TTL Schottky.gate
< C.CMOS silicon.gate
< D.TTL low power Schottky gate

Question ID : 630680774903
Status : Answered
Chosen Option : D




Q.7 Select the most appropriate meaning of the given proverb.

A stitch in time saves nine.
Ans X A ltis better to try to be happy than remaining unhappy.

/5 B. It's easier to win people by persuasion and politeness than by confrontation.
o C. It is better to deal with problems immediately than letting them become bigger.

/5 D. Itis necessary to work hard in order to make progress.

Question ID : 630680292734
Status : Not Answered
Chosen Option : =

Q.8 Which of the following is true for the triggering of master flip-flop and slave flip-flop in the JK
master slave flip-flop?

Ans X A. Master flip-flop is negative edge triggered, slave flip flop is positive edge-triggered.
" B. Master flip-flop is positive edge triggered, slave flip-flop is negative edge-triggered.
5 C. Both the master flip-flop and slave flip-flop are negative edge triggered.
Z< D. Both the master flip-flop and slave flip-flop are positive edge triggered.

Question ID : 630680774919
Status : Not Answered
Chosen Option : —

Q.9 Which of the following parameters of BJT indicates whether the transistor is low, medium or
a high power transistor?

Ans X A Vie(mayx)
«” B.lc(may)
7 C. Vgg(max)
< D. lg(max)

Question ID : 630680774881
Status : Answered
Chosen Option: B

R

Q.10 3R i 3R sifrga 25 zaf~hal Fit ges tfws &, #1210 SR @ 189 = wr 38 81 afy dw, #i=r
& IR W 31Tsd W WR A6} B, a4t Utk & T R @ §491 o1 == = 82

Ans XA.1SaT
X B.107
o C. 167
X D127

Question ID : 630680361850
Status : Answered
Chosen Option: C




Q.11 T hi Y IHH A Frited Y org & 35 aef s1fdres &1 15 aef ang Ik 31y 1 SrguT 15: 8
ghm e Y aetar oy (af ) forat &2

Ans X A.22
% B.20
X C.24
& D.25

Question ID : 630680756609
Status : Answered
Chosen Option: D

Q.12 siEgA 7€t & def & fafaf@a § § #l9-9 = ad 87
A. sIgTqA 4 <l freara & =i oY & A @ S ST @1
B. SIGTYS I it Fivetre e # ST & A § ST ST g1
C. R ik wifea sgrga 74 i "eraes Afat §1

Ans o A A BIRCTEE
< B.had AR BTG E
X C.Fad A R Cad g
X D.haaBIRCTE g

Question ID : 630680536517
Status : Answered
Chosen Option: A

Q.13 Identify whether the following statements are true or false.
Statement 1:
The position of core can not be changed in ferrite core transformers.

Statement 2:
The value of K is almost equal to 1 for air core transformers.

Ans X A. Both the statements are true
75 B. Only statement 2 is true
o C. Both the statements are false

75 D. Only statement 1 is true

Question ID : 630680774862
Status : Not Answered
Chosen Option : =




Q.14

4
—<

=
: &l 4

—
IRIFT BT # Effa CMOS Jifers g@RT a1féd ar-8e e #1 Tgai HIie|

]
i)

Ans X A AND T

«" B.ORIC

< C.NAND e

< D.NOR e

Question ID : 630680774909
Status : Not Answered
Chosen Option : =
Q.15 10W
| L
S I - £ - AN

What type of resistor is shown in the above figure?

Ans X A. Wire wound resistor

#< B. Carbon composition resistor

& C. Ceramics type resistor

/5 D. Metal film resistor

Question ID : 630680774852
Status : Answered
Chosen Option: C

Q.16 fA=fafEd syl fY 9 a1 3/ & w4 A ug== Rifsul

Ans

hYA1:

st gifSieeR, RifceT gifSiex & gormn # fawga araa S § dgar wrf w=a &
hYA 2:

T (NPN) gifSieR @l 39 SRoT 9 usie forar strar @ iifes gadiga (NPN) # digadt (PNP)
&Y ger 7 sifdres AR afa @i &1

o A FTd FANTT &
X B. gl o i €
X C.FaahyT 1908
X D.adraad

Question ID : 630680774879
Status : Answered
Chosen Option: A




Q.17

CP| cp CR| CP &= nput Puise

Input Pulse = $9C T

=y F FEe, T+ @ Ferar T
Ans  # A5
X B.4
X c.16
X D8
Question ID : 630680774920
Status : Not Answered
Chosen Option : =
'1 I E e
R I |

The 4-band colour coding in a resistor is violet, green, blue, and gold. Calculate the value of the resistor.
Ans XA T5kQ+ 5%
< B. 75 ML + 10%
XcC 75kQ+ 10%
« D. 75 MQ + 5%

Question ID : 630680774849
Status : Answered
Chosen Option: D

Q.19 fA=fafad wual f 9@ a1 s & Tu 7 ugar S|
HYF 1:
3ifthetrs= UPS # #=1 AC (mains AC) &t fRIR &=t ol Umaen= g g1

hYF 2:
3iThers= UPS & fag, &9 AC (mains AC) & & dleedr 3R 31fdeh dieedr & Amet , ufer
o faa aftha g Simar g 9iir 37a¢R @ ured AC ) 31iseye & St gl

Ans X A T Y ST &
X B.dhad A T &
X Cami O g
o D. FIT RIT 2T &

Question ID : 630680774929
Status : Answered
Chosen Option: C




Q.20 a=erar urer (liquidity trap) & aR & fRafaf@a & @S9 a1 wu= g 8?

Ans o A Hifges i 39 A & e g 78 gt 81
75 B. UM Aehe; STHT @l i SR 311 T aTet FasT fdhed &Y IermsT & 81
X C. 39 A & R, Iui=hT AT STHT @I § ¢HRIRT T8l Tad &1
< D. 35 R & <R, 11 & Tgd 341k gl § R T2 &2 A gt 2

Question ID : 630680218410
Status : Not Answered
Chosen Option : —

Section : Section D

Q.1 Ueh UTaR iR # Np & 400 %R 3k Ns & 40 9R &1 S1a urafies ateear 440 V g, ad fZdaw
aieedr (Vs) &Y ot HifSgl
Ans X A 240V
X B.440V
2 C.4400V
o D.44V

Question ID : 630680774860
Status : Answered
Chosen Option: D

Q.2

gw a7 aftay & BT Bye FT FA 100 3R Vge FT 7 0.7 V 8 W TIE! &1 I Fr awrar HfFw
Ans o A 25mA

X B.10.7mA

X C.3.3mA

7 D.9.26 mA

Question ID : 630680774885
Status : Answered
Chosen Option: A




Q.3 Which of the following transformers is commonly used for coupling the drive circuitry for
power MOSFETs?

Ans X A Auto transformer
" B. Pulse transformer
X C. Potential transformer

Z< D. Current transformer

Question ID : 630680774895
Status : Answered
Chosen Option: A

Q.4 U ATFHIAMA SABRR T aieedr sigurd, gt gl
Ans X A.0.5

" B.1

X cC2

X D.4

Question ID : 630680774865
Status : Answered
Chosen Option: B

Q.5 Choose the most appropriate proverb to substitute the underlined segment inthe given

sentence.
Don't be fooled by all their wealth and privilege, they may appear attractive, but it may not be

their true nature.
Ans X A an apple a day keeps the doctor away

5 B. every rose has its thorn
& C. all that glitters is not gold

/5 D. early bird catches the worm

Question ID : 630680153855
Status : Answered
Chosen Option: C

Q.6 Identify whether the following statements are true or false.

Statement 1:

Most standard TTL ICs require a power supply voltage between +4.75V and +5.25 V to
operate properly.

Statement 2:

The ICs of the standard TTL family are identified by numbers that start with 54 and for
military specification, devices are identified by numbers that start with 74.

Ans  &# A. Only statement 1 is true
/5 B. Both the statements are true
/X C.Both the statements are false

/X D. Only statement 2 is true

Question ID : 630680774907
Status : Not Answered
Chosen Option : —




Q.7 ug ux R=fafad sl wR emeniRa &:
SPACE ROUND TITLE MATCH

TfE IR U 2AeE T UgdT S1&R gl T s1mar g, af Fafaf@a 7 @ foras sreiyof sidsd e
FAm/aAn?

Ans o A hdd ‘SPACE’
75 B.&ad ‘TITLE' 3R ‘MATCH’
75 C.%aa 'ROUND’
X D. &ad ‘MATCH’

Question ID : 630680187834
Status : Not Answered
Chosen Option : —

Q.8 If the applied voltage across a 10-watt resistor is 20 volts, resulting in 0.2 amps of current
through the resistor, the power dissipated by the resistor will be:

Ans X A 5watts
«” B. 4 watts
X C.10 watts
X D. 8 watts

Question ID : 630680774850
Status : Answered
Chosen Option: B

Q.9 3Ra wu @ Aufaa a1 T &1 @ fa gifoieR & oy Fafafae 3 @ fa-d Rt o g2
Ans X A. SMUR-3SIch STaRM 3R SMUR-TUTE! STaRM a1 31 ifAd &l

X B. STYR-IcTSieh SR 3R SMYR-TUTET SR g1 eh i 3ifod &

X C. STTR-3ISIh SR FehA A & SR SITER-SuTe! SierM 37T Sf9d g1

o D. STTER-ISIch SR ST ST & ofR STl SiaR™ ehd AfHd &1

Question ID : 630680774884
Status : Answered
Chosen Option: D

Q.10 Which of the following transformers can be used for variable voltage operation by using a
sliding contact like a potentiometer?

Ans  # A. Auto transformer
25 B.Isolation transformer
/X C. Step up transformer

/5 D. Step down transformer

Question ID : 630680774866
Status : Not Answered
Chosen Option : —




Q.11 83 ASCIl @iz & Tty fawaria ASCII aret # fohae e &7
Ans X A 255

X B.127
X c.128
o D. 256

Question ID : 630680774906
Status : Not Answered
Chosen Option : —

Q.12 f=faf@a wyEt i g a1 s/ & &9 7 uga fifSl
HYT 1:
fAroe IWeex g UuT TR g St forew & ohe ot arget M oruet shée ol eruet e foe ar
TIOHR et | gam 8l
HYA 2:
farge AR RS, JK a1 D fRTT-U=ATT ST IUANT ek ST ST ehelT &1

Ans X A i YT AT §
X B.had sy 1908
X C.HaaFYT 290 ¢
o D. A R T E

Question ID : 630680774921
Status : Not Answered
Chosen Option : =

Q.13 g UsR & IR A fA=fafaa d @ l=-a1 = s/ 87
Ans X A U8R & gd § "eRd 3R SR eIl &

X B. GaYeT uddHTel USR & IR A ¢

X C. Tiere’t 3R T, ISR i U@ Al |

o D. T8 USR eI & IR H Uoh SMIAThR - & |

Question ID : 630680511318
Status : Not Answered
Chosen Option : —

Q.14 Who among the following is the author of the book ‘The Buddha and His Dhamma'?
Ans X A Jawaharlal Nehru

< B. Mahatma Gandhi
/X C. Dadabhai Naoroji
& D. Dr. BR Ambedkar

Question ID : 630680318900
Status : Not Answered
Chosen Option : —




Q.15 Which of the following is NOT a component in UPS?
Ans X A Static transfer switch

" B. Wicking braid
75 C.Inverter
/X D. Rectifier

Question ID : 630680774927
Status : Answered
Chosen Option : B

Q.16 [45];o T 1= & uRafa Hfew)
Ans X A.[100011],

% B.[100010],

X c.[101011],

« D.[101101],

Question ID: 630680774900
Status : Answered
Chosen Option: D

Q.17 ek Ut I 2A h IHTRR 1 &1 R Fa1E 16 CM & 3R 59F Tt Rer R Bam 12 CM &1
SHH FeTd UTH WRT g3 81 ST Bie-sie i, o @ e fi Bt 2 CM iR S 4 CM 8,
T # ARTg 11 €, @t Ut a1 uig-siTaal WNT S1gR 98 STt g1 Ut # ARG 9 sik-sie eigei &
T forat 82
Ans o A.90
X B.72
X c.84

X D.9%

Question ID : 630680368867
Status : Not Answered
Chosen Option : —

_

Q.18 fA=fafa@da wy=l i 9 a1 3rid & w0 # ugaE HifSg|
hRYT 1:
arR-gefora ufaRiee 3w aTuHT UgA R ahd &, 3R R oft 9l sl w= a0 @ aaa €1
hRYA 2:
ar-gefora ufaRtuenl ) T sitfies amt & forg sHrar i @ohar 8, Sit e dues
yfaRierent & g T8 &l

Ans X A FaaHUT 2T G
X B. eI Ry s 8
o C.AFi I I8
X D.hadhYT 1 qa 8§

Question ID : 630680774851
Status : Not Answered
Chosen Option : —




Q.19 af foreft amgew hi uees sHrie worTel, JIS e15u s d 25B364 8, dt a8 &I
Ans  # A pnplf

2 B.pnp hf

< C.npn hf

< D.npn If

Question ID : 630680774874
Status : Not Answered
Chosen Option : —

Q.20 Which of the following combinations can be used for a 2-bit parallel full adder?
Ans X A Two half adders and one AND gate

#< B. Two half adders and one Exclusive NOR gate.
&" C. Two half adders and one OR gate
#< D. Two half adders and one Exclusive OR gate.

Question ID : 630680774911
Status : Answered
Chosen Option: C

Section : Section E

Q.1 When the base of a BJT is open, the resistance between the emitter and collector pins will be:
Ans X A zero

X B.very low
X C.low
« D. high

Question ID : 630680774880
Status : Answered
Chosen Option: A

==
Q.2 fa=fafEda & @ w9-a1 shis Gaisi= 8421 BCD ahis & Iuahw 181 fovan Siman 82
Ans X A. 1000

2< B.0000
& C.1010
% D.0111

Question ID : 630680774905
Status : Answered
Chosen Option: C




Q.3 U geifaees giex Y & 500 W, 100 V &1 §ifeéw gefidie o1 ufaier sira HifSigl
Ans X A.400Q

X B.50Q

& C.200

X D.10Q

Question ID : 630680774856
Status : Answered
Chosen Option: C

Q4 fFafaf@a & @ e d3:fSi &1 Sugin BJT & fog aga S=1 smgfa srguail ofik = araam=
fR=ar & o forar sTar &2

Ans X A dee die Riss & a1y wifees dafshr
X B. @@ dehfSiT
X C. feet thfSiT
o D. RRfAe IS

Question ID : 630680774878
Status : Not Answered
Chosen Option : —

Q.5 T 7146532 # U 3ich aht a1¢ @ 1§ SIRIE! shil # caafedd fava sirar &1 gt T &t g
# fore ofenl Y RIFA(aT) sraRafda wift/dh?

Ans X A U oft g
« B.T&
xca
X D.d=

Question ID : 630680542539
Status : Answered
Chosen Option : B

Q.6 When P and N materials are put together, at the junction of P and N materials, some
electrons from the N-material jump across the boundary and recombine with the hole near
the boundary of the P-material. This process is called:

Ans X A dipole movement
< B. diffusion
" C. depletion

25 D. exclusion

Question ID : 630680774869
Status : Answered
Chosen Option : B




Q7 RfSea saagifea 9@ fAfR aRuy § g geR & srits &1 gt fma smar 22
Ans X A 3= fh e

X B. ifaf<s 3= afhs srits
o C. T ik srts
/X D. megm 1f<h S/E

Question ID : 630680774872
Status : Not Answered
Chosen Option : —

Q.8 Select the most appropriate article to fill in the blank.

Being only M.A. in Political Science, he could not be appointed to the position of a
Professor in the university.
Ans X A a
/< B.the
< C. No article required
«” D.an

Question ID : 63068084728
Status : Not Answered
Chosen Option : —

Q.9 Identify whether the following statements are true or false.

Statement 1:
The input resistance of a common base amplifier is very high (more than. 100 kQ).

Statement 2:
Common base amplifiers are mostly suitable for high frequency applications.

Ans & A Only statement 2 is true
#< B. Only statement 1 is true
/5 C. Both the statements are false

7< D. Both the statements are true

Question ID : 630680774890
Status : Answered
Chosen Option: A

Q.10 fA=faf@a wual f g ar s & w0 7 ugarq fif9gl
hYF 1:
MOSFET #, %hd STg3iTerITSS ol ST gifoier & e ik gsie h fra g A ma d wu &
forar STaT 21
YA 2:
CMOS iR a1t MOSFET #, Shaet fRfAT & gk wgeayuf fasredt i @ua gt &, 7 f

gies SEawIT # g1 ||

Ans X AGFidyTaas
o B.FaA R 29T 8
X C. 3w e 8
X D%y 1 Tg g

Question ID : 630680774892
Status : Not Answered
Chosen Option : =




Q.11 80,120 3R 24 Q 7 ara i wfeRter Soft o & 512 gT &)1 go uforty ma HfSgi
Ans o # A 440

X B.11Q
X c4aq
X D.220Q
Question ID : 630680774854
Status : Answered
Chosen Option: A
Q.12 oo
Ry Reg
Croum
Cegn) e i
Vour /7.
> -‘.s::wmz Ra B ]- Cy é:::mw

SINE WAVE = =31 a3t
feT a7 BJT #H,R,= 10 kQ, R, = 5 kQ, Rg = 40 0 3Tg =100 gI
gaqe gfaamar $r avrer HifFw)

Ans X A.22kQ
X B.2.8kQ
& C.1.8Kk0
X D.1.2kQ

Question ID : 630680774888
Status : Not Answered
Chosen Option : —

Q.13 Identify whether the following statements are true or false.
Statement 1:
Once the forward voltage goes above 0.3 V for the silicon diode, it starts conducting.

Statement 2:
Above the cut-in voltage, the forward biased diode behaves almost like a closed switch.

Ans X A. Both the statements are false
& B. Only statement 2 is true
/5 C.Only statement 1 is true

/5 D. Both the statements are true

Question ID : 630680774870
Status : Answered
Chosen Option: B




Q.14 fA=faf@a d @ sia-ar sy fRerg-uety ok d= & i ol siae 8?

Ans

X A TRIT-URATT STeachlicich URETE Shed & STaich ofd gedehlieleh URETe ahvd &
X B. foR10-uirg ot Tie T | ahid @ STalfch o o s § & &ed 3

< C. fOeTu-UeiTd ont o fIg]d hT STTaThdT BIdi & STafch o ol STTYeh fIe[d <hl STTaxdehdl Bid &

o D. fTT-weifa Tor- RTR €1 & orafeh 3 st R 8 &1

Question ID : 630680774915
Status : Answered
Chosen Option: D

Q.15 Which of the following amplifiers is most suitable for impedance matching?

Ans

X A.Common base
/< B. Emitter feedback
/X C. Common emitter

& D. Common collector

Question ID : 630680774887
Status : Answered
Chosen Option : D

Q.16 Ffaf@a # § wi9-41, 3-thet UPS & srdugei= & forg fRafadan & & ga adi 82

Ans

XA 31 Al R Tersy
X B. f@usiaR a=H

o C. I &g W TeEH
X D. guf &g | Ferzd

Question ID : 630680774935
Status : Not Answered
Chosen Option : —

Q.17 ISt Hifa & Fraf<aa & dfehn &= i aar yfawr gidt 8?2

Ans

o A. doh R GUE 3R THRI T Tigg TR o ISTehiHIg TaTer H Tgrdl hid gl
X B. SfHT & Shaet TR TSTehINIT e Sl TgTerdr e & ol o7 e ahear g1
X C. ToTohiee i A St &t Al A el 8, 78 U IRE T ThR T SAAAR-EF B
X D. 3 & uger ®u I qsreie i RuffRa ok aamifSa ewar &1

Question ID : 630680595456
Status : Not Answered
Chosen Option : —




Q.18 i ¥f3ar srardw (i wiamsdt oifws Ef3an i v use) aes gmara-ide gaeTal (5-7 S5 2023) &
JIY-91Y YRd & fA=faf@a d @ forg aer & smafaa forar mar an?

Ans o A S Rt
X B.gER
X C.gETe
X D. 4w

Question ID : 630680350901
Status : Not Answered
Chosen Option : —

Q.19 Which of the following gates are normally used in digital comparators for comparing their
respective pairs of bits?

Ans X A. Exclusive-OR gates
/X B.NOR gates
o C. Exclusive-NOR gates
X D. NAND gates

Question ID : 630680774912
Status : Not Answered
Chosen Option : —

Q.20 P,Q 3R R, Ueh a9 SR & &1 Al I7eh FHd2n i srafdy o1 srqura 4: 6.:9 @ SR I77eh o1y
T SiguTe 22 3: 5, a1 P, Q 3R R &l g=ft a1 sigure e FifSigi

Ans X A.6:9:10
w0 B.9:9:10
25 C.9:6:10
X D.10:9:9

Question ID : 630680530316
Status : Answered
Chosen Option: B




